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[ TTZTE WozINEd : 100
[ Max. Marks : 100
Qn. Ans. . Marks

Nos. Key Value Points allotted

. 1.| B (6, 7, 81 1

2. C 90 1

3. A 5 1

4. D X-Yy 1

S. B 18 1

6.| C 23l sl 1

7. D 12/ 2 cm 1

8.| A JEE 13 1
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81-U 2 CCE PR
Qn. . Marks
Nos. Value Points allotted
II.
100 _
9. Po 1 1
10.| - br 1 gEEREE 1
11| #Eess, = % A
5 10 Yo 1
12. -1 ,.'.éj) 22 J_}/L
cos 48° — sin 42° cos 48° — sin 42°
= sin 42° — sifi 42° = cos 48° — coé 48° Yo
=0 =0 Y2 1
13. {L/L y=mx+c ¥ y=3x «bl-
Jleim=3 Yo
sy=c =0 Y, 1
14.] 3286 sdu# T.SA. = 3nr2 1
I1I. : Ly
15.
n(A)=37,n(B)=26, n(AUB)=51
n(ANB)="?
n(AUB)=n(A)+n(B)-n(ANB) 1
51=37+26-n(ANB) Va
~n(ANB)=63-51 )
n(ANB) =12 Vs
16| a) bedl-AM. = &+D 1
4 2 2
b) holl HM. = 22D 1
a+b
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CCE PR 3 81-U
Qn. . Marks
Nos. Value Points allotted
17| S
2 2 1 _1 1
a=2,r=3 = 3*X73°7F 72
2
S =7
a
5= T Y,
_ 2 _ % 1, 2
1__ =
3 3
3
=2 X —
2
S = Yo
18.| -ewl#Li3+ J5 P
:>3+\/§=§ J pgezqg=0 Yo
- 3+L2 -5
q
-3q+
N q+p _ J5 VA
q
[u/gﬂ/; ]vfl_)ﬁdf‘?’”_{l \E .f)?,
2
-3+ p
"T-ulﬁz’"ddf T =RyL
<P 5 Sreagt
e W FS R v
‘Lsﬁdﬁ"‘/f‘ugg + '\/’g e A
19.] widall - 8C3 Ya
Ulfﬁ n=8,r=3
n n! 1
C = — %
" (n—-r)r! g
8 8! ) 2
Cr=——"—" %
37 (8- 3)3! ?
- 8x 7 x Bx 3l
5 x 3%x2-
= 56 Yo
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Qn. . Marks
Nos. Value Points allotted
L3 AL
- &t —1)(n—2)
wdett no o M
n=8 /f,
2
8¢ - 8x7x6b v
3 6 2
=56 Yo
20. :L}p
1 .1 _ x
8! 9! 10!
L 1 _ X 1
81 " Ox8l 10x9x8l /2
L (141 = X 7o
El 9) 10 x9 x &!
2
m _ X 1
2 10 x 9 7
x = 100 Y2
21.] . F
EALEON 4l 7= T, =35
n(S)=35 Vs
EAEON 220l 4= C,- Yo
2
EALENS -2 3 = 3C,=3 Y
“n(A)=%C,x3C,=6x3=18
_n(A) _18 )
UEIP(A) n©) 35 7
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CCE PR ) 81-U
Qn. . Marks
Nos. Value Points allotted
22.| & Aec
x x2 Jiw Yo
5 25 SIAS e
6 36 o= [zx? _(z_x)Q Ya
N N
7 49 _ [255 (&)2 5
S )
8 64 = 451 -49 VA
9 81 = 2
sx=35 | 2x2 =255 | o=1.4 Yy
N=5
(2 E) 3
x d=x-x d? LYo = EX
N
5 ~9 4 _ 35
)
6 -1 1 =7 1
7 0] 0
8 1 1
2
9 2 4
Tx =35 >d? =10
i > d 2
h"/"-5’.L:3‘"= c = N Yo
- 19 - /3
S
= o=14 Yo
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vos i Marks
Nos. Value Points Marks
LAl 3 A
edle A= 6 [_{.ﬂ:t?y/,ﬁlg‘”fg[]
x d=x-A d?
5 . :
6 0 0
7 1 1
8 2 4
9 3 9
N=5 Id=35 2d2 =15 1
31 2d?  (=d)?
AL o = _(=d
fJJ,, (o] N ( ~ )
15 (5)? y )
5 5
=J3-1=42
c= 1.4 "
L3 A 2 A
S A=, #2SF=C=1
x—A 2
X d= d
C
5 5 .
6 1 X
7 0 0 .
8 1 .
9 2 4
N=5 >Sd=0 Zdz - 10
) 2 b}
e - (W) <
= % -0x1
= J2
c =14 v,
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CCE PR 7 81-U
Qn. . Marks
Nos. Value Points allotted
23. Lol ax2+ bx+c=0 K:A:L«*L:‘fd;
JWa=1, b=-2, c= -4 Y
—bi‘/bQ - 4ac 1
X = Yo
2a
o (—2)£ (-2 —4xix-4
2x1 2
211/4+16 1
= ———————— /2
2
_ 21245
2
_ 2045
2
e nZbatrSnmn (1- 45 ) ,t:( 1+ 45) 7o
¢
S a=1, b=-2, c=-3 Yo
A= b2 - 4ac
_ 2 1
=(-2)°-4x1x(-3) Ya 2
=4+ 12
- 16 Yo
LMl A >0 - Ya
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81-U

8 CCE PR
o i Marks
Nos. Value Points otted
24. /ﬁuﬂ =r =35cm
2 = 80°
‘\,_
\
sl YA
.-:}'J ]/2 2
=S B sl A 1
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CCE PR 9 81-U
Qn. . Marks
Nos. Value Points allotted
25.| J* A ABC Js'A ADC
A A L.
BAC = ADC (2s/)
VAN A &4
ACB = ACD (113
A ACB ~ A DCA (= Ll s 8el) 1
AC — CB dﬂl_AA A 2
DC CA
AC? = BC x DC A
b
VAN
BD 1 AC s ABC =90°U B\ aBc
AB? = ADx AC - (1) CTr&b Va
LASIBC? = cD x AC — (2) TrLE Va
= (2) § (1) 2
AB? _ AD x &C v,
Bc2 CDxAC
2
AB? _ AD v,
Bc? (D
26. | sin 30° = 1
2
cos 60° = %, tan 45° =1 1
sin 30°. cos 60° — tan?2 45° 5
1.1 2
= 2 x=—(1
5 %3 (1)
- % A
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Qn. . Marks
Nos. Value Points allotted
27.|
(xl)yl) = (_574)
(x21y2)=(_771) 1/2
wd = ‘/(x2—x1)2+(y2—y1)2 Yo
HAadlodis = =7 = (=5)12 + (1 - 4)2
= J(-7+5)2 +(-3)2 Z 2
- V2% + (-3)2
= 4+9
r = /13 Yo
28. M&L{‘JJJ//Q’}'J‘] ~
ry Ty = 2
cf*:"u(wgldbﬂcﬁ
_/
S;:S,=5 Ya
Sy =/2/7:r1h1 v,
S, 2T r2h2 )
5 _ 2h1 v,
6 3h2
hl - S5 x3 — E
Mdlﬁ;d/u:ﬂ=5 4 Yo
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CCE PR 11 81-U

Qn. . Marks
Nos. Value Points allotted
00.| HidkS= r, = 10 cm
Seblin = hy =10 cm
A o 7, =5cm
J Zl{c;
M U%} =
A6 # 1,
4 3
_ 3™ 1
1 2
gty ho
2 2
_ 4 x 10 x Y0 xA0 v 2
B3 x 3 x 30
=16
AUt Z = 16 Ys
30.| :~k
25m = 1cm
50m = 2cm
75m = 3 cm
100m = 4cm
125 m = 5cm
200 m = 8 cm.
D
I
by |
R =3 (e
S0
25
. 25
P Y
So
A
Gre Uiz 1y
56 1% 2
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Qn. . Marks
Nos. Value Points allotted
31.
AR
i&.ﬂéu_jj 1 2
4 L0 1
32.| a=1,r=2, Ty =? Yo
_ n-1
Tn = ar 15 )
T. =1(2)°7! Y
-1(2)%* =16 Ya
33.] (342 +243) (243 -442)
=342 (243 -44J2)+ 243 (243 -442) Yo
2
=646 —12x2+4x3-846 Yy
=646 —24 + 12 -846 s
=-2{6 - 12
-2 (/6 +6) } &
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CCE PR 13 81-U
Qn. . Marks
Nos. Value Points allotted
34, wifl¥=14+6+2+18=40
ru.‘ :L«.Jg,r,rw :f"jd}g"
o 14 14, 360° = 126°
40
gk 6 6 x 3607 - 54°
40
o 2 2 x 368° = 18° ”
40
. 9
BaYy-: 18 % x 360° = 162° 2
1%
35. c"«,}"%ﬁe=m+n=—§ !
L) C 2
_..J/"J"lagﬂl; =mn= — 1
a
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Qn. . Marks
Nos. Value Points allotted
36.| LLEKAPBC=PB+ BC+ PC 5
= PB+ BX + XC+ PC
UJ‘JBX = BQ, XC = CR
= PB+ BQ + CR+ PC Y5
= PQ + PR
i~ PQ = PR 2
= PQ + PQ
= 2PQ Yo
=2 x7=14 cm
LK APBC = 14 cm Yo
37.| < AABC, DE || AB
% = % cor. BPT v,
5 _CE 1
12 18 /2
3
CE = S x l’é 1,
12 5
_ 15
2
CE=17.5cm Ya 2
Orlur=1 4,3
" 2
JﬁKuﬂfiuf“a.;{» =1+3=4 VA
-‘a.‘j,-L/zC @/L&ak.ﬁi;ﬁ(g’ﬂ/&iu;’l"‘ﬁ.ﬁ» 1
Ut bk 248 1, 2, (3 22 v,
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CCE PR 15 81-U
Qn. . Marks
Nos. Value Points allotted
30. o BN aBc, aBcC =90°
Ac? = aB? + BC?
_ 42,32
- 16+9=25 5
2
AC=5 1
A 4
ina= B€_3 Yo
sin A aAC 5
cos A = % = % Ya
40.| $# =h=30cm, Fid=r =35cm
CSA=7?
CSA of a cylinder = 2 n rh sq.units Yo
=2X£X8§X3Osqcm Yo
T ' ' 2
=2 x 22 x 15 sq.cm Yo
= 660 sq.cm. Ya
IV. Z-,:J/K\/g—ﬁisﬁ"'\/g
41. V6 +4/3  J6+43 1
V6 -J3 V6 +43
_ (\/€+ ﬁ)z v,
(\/g+ \/g) (\/g— \/g) 3
_ 6+3+2J6.43 1
6-3
_ 9+ 2418 "
3
_9+642 )
3
3(3+ 242
_3B+242) v,
3
={3+242 )
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Qn. . Marks
Value Point
Nos. a‘ue Toints allotted
42.
2

x“+3x-8

Xt 118 1 4x? _sx+6
A
6 6
3X['-5x+ 6
3 2+3x
) )
_g(+6
-8x-8 1
)
14
=0 q(x)=x2+3x—8 Yo
3¢ |r=14 A 3
J:ﬁ

g(x)xq(x)+r(x)

=(x+1)(x%2+3x-8)+14

=x3 +3x%2-8x+x%2+3x-8+ 14 Yo
=x3 +4x%2-5x+6

=p(x)

p(x)=[g(x)xqg(x)]+r(x) Y2
L

e

(..
N e 4
. “kj.ul

-214 -16 -9 -36

-8 48 -78
4 -24 39\—114 2
=0k 4x2- 24x+ 39 7% I
3t r(x)=-114 1,
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CCE PR 17 81-U
l:lat:ls.. Value Points aﬁ:::‘:) d
43. SE
J'ﬁ'gﬁﬂj}'f”dfﬂ =x, (x+1),(x+2) Vo
X2+ (x+1)(x+2)=92 1
x2+x2+2x+x+2=92
2x2 + 3x+2=92
2x2 +3x+2-92=0
2x2 +3x —90=0 2 x - 90 = - 180 ve | 3
2x2 - 12x+ 15x —90 =0
2x(x -6)+15(x-6)=0 15— 12
x=6,£x=—% 72
J'ﬂ’,.;}ib” 6,7,8 2
¢
i
suwlerx, y x>y V2
ie x%+y2=180 — (1) Yo
y2=8x — (2) Yo
(e (20
x2 + 8x =180
x2 +8x —180=0 - 180
x2 +18x — 10x- 180 = 0 /\ Yo
x(x+18)-10 (x+18)=0 18 - 10 ¥
(x-10)(x +18)=0
x=10 or x = - 18 Yo
S x =10 < y2=8x
y2=8x10
y = J80 = J16x5
=445 Ya
Al 10,445
PR-N-12014 [ Turn over




Qn. . Marks
Nos. Value Points allotted
44.
Yo
e TV Pl pl Ui s B A <2 Vs
LUBA B PA Setiat o L 1y
.
& oxevowy - Sy,
SF
VAN
APX =90° > (1)
A L
BPX =90° - (2) J (#d L o) Yy 3
AN AN o
APX+ BPX =90°+90° ;&84 (i) » (i)
VAN A .
APB=180° APB < 2di .
‘G_r‘r.“""l/ﬂ APB iur'j'
BB A P K 1,
45.| _AAABC, AB=BC= CA A 4
AN 1 BC
. = = l = l
. BN=NC= = BC= - AB
A
V1N ABN, ANB =90° . .
+
AB? = AN? + BN? e Ty c 72+
N
AN? = AB? _ BN? 72
2
482 - (1) A
2 AB?
= AB%4 - 45 __
4
2 2
AN2 = 4AB - AB v,
4AN? = 3AB2 2
L
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CCE PR 19 81-U

Qn. . Marks
Nos. Value Points allotted
A
Yo
LY D c
A
s BNABD, ADB = 90°
AB2 = AD2 + BD2 1/2
AD? = AB?2-BD? - (1) Ya 3
AN
JBNADC, ADC =90°
.. AC?2 = AD?Z + DC? Yy
AD? = AC?- DC? - (2 Yo
o (i) ()
AB?- BD?= AC? - DC?
- AB2 + DC? = AC? + BD? Yy
46.] LHS = tan2A - sinZA
. 2 .
- Sin“A4 24 .- tan A = SIn4 Yo
cos2 A cos A
_ sin? A—sin? Acos? A v,
cos? A
sin? A 1- cos? A) y
= 2
cos? A
o 3
d"’/ 1- 0032A = sinzA
sin?A . sin?A
= Yo
cos? A
)
= Sin"A  §in2a Yo
cos“ A
= tan2A . sin2A. Y5
LHS = RHS
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Qn. . Marks
Value Point
Nos. a‘ue Toints allotted

3G

LHS = tanZ2A - sinZA

= (sec?A-1)-sin?A .+ tan2A=sec?A-1 Yo
= ;2—1—(1—0032A) w gec2A= ;2 Yo
cos” A cos” A

sin2A= 1-cos?A

l—cos2 A—cos2 A+cos4 A

) Vs
cos2 A
_ 1—200s2 A+cos4 A
0052 A
2 2
1- A
_ (1-cos” A4) " 1-2cos?A+costa
cos2 A
= (1—cos2A)2- 72
.2 2
A
_ (sin ) v 1-cos?A=sin?A Y2
cos2 A
. 2
= M . sjn2A
cosQA
= tan2A . sin2A.
LHS = RHS. &

e
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CCE PR 21 81-U
Qn. . Marks
Nos. Value Points allotted
A T T —— ————M
2-9-‘-' 30’
~N
N
S0J3 N
N
AN
N
e el
?
- 1
s_”_dA-'J:d/.:.M AB Ig{f}
AB=50{/3m
.JJUL}LAJE{ whe ¥ BC
‘J}?%:U 30°
. A A
W AM || BC, &M AC= ACB= 30° Yy 3
VAN A
B\ ABC, ABC =90°, ACB = 30°
. o _ ﬂ 1
. tan 30 B Yo
1 _ 5043 1
J3 BC /2
. BC  =5043 x J3
=50x3
%.L"GGEO}K(’Z}’:AU =150 m VA
V. 47| JislddL
T 3 + T5 = 30 1/2
a+2d+a+4d =30
2a+ 6d= 30
a+3d=15 — (i) Vs
a+3d+a+7d =46
2a+ 10d =46
a+5d =23 — (ii) Va
£ P (i) 9 (i) ks 4
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81-U 22 CCE PR
Qn. : Marks
Nos. Value Points allotted
a#5d =23
- g+ 3d =15
(o I | Ya
2d =8
d =4 1
(st () e d =4
a+3d=15
at3x4=15
a+12 =15
a=15-12=3 A
Na=3,d=4 sl
3,7,11, 15, .... A
b
u‘:ﬁl;;jd}’ﬁ"i T4 =8
ar3 =8 — (1) A
48! Tg = 128
ar’ =128 — (2) 1,
(e (1) e (2) el
7 16
dr _ 128 v,
43 8
r* = 16
r =2 1/2
ar3 =8 Jr=2 /(l
a(2)? =
8a =8
Jr=2sa=-10
Y r=2 ua A
a (rn—l)
Sn = r—1 1/2
1 210—1)
- 1
S10 51 s
= 1024 -1
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81-U

Qn.

Nos.

Value Points

Marks
allotted

48.

-3

12

-2,12)

-2,5)

- 15

14

13

12

11

10

<~k

P4

t.«'bh? 2

g 1
etk

x-axis lcm = 1 unit

y-axix lcm = 1 unit.

(4.5)

(D,—3)

(1,~4
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81-U 24 CCE PR
Qn. . Marks
Nos. Value Points allotted

LA
x2-2x-3 =0
- 2 -
y= x y=+2x+3
y = x*
X -3 -2 -1 0 1 2
Yy 9 4 1 0 1 4
y =2x+3
X -3 -2 -1 0 1 2
Yy -3 -1 1 3 5 7
e 2
I ¢
S 1 | 4
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81-U

Qn.

Nos.

Value Points

Marks
allotted

(-3.9)

=24

¥

|— 17

[— 16

— 15

— 14

— 13

— 12

— 11

— 10

(0,3) 3

(24

3.9

Scale :
Xaxis=lcm=1
gaxis=lcem=1

-3,-3)

-y

PR-N-12014

W h——_—————— e e e e e =T

N
x=-1
x=+23
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26 CCE PR

Qn. . Marks

Nos. Value Points allotted
49.| d = 8 cm R = 4cm r = 2cm

R-r=4-2 = 2cm

-~

SV 5 KL= MN = 7-8 cm
S S B AB 1
(5 C, 4 Cy<Cy I

ci#d KL s MN <BQ <BP

el et

PR-N-12014
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CCE PR 27 81-U
Qn. . Marks
Nos. Value Points allotted
50. A D
G 1S
B@ c e |2
Yo
J*A DEF 3 o ABC ~*2/
N A N A
BAC = EDF, ABC= DEF Yo
AB _ BC _ AC fch:_t/.:/,f‘-_,-:lb‘ 1
DE EF DF
SEUE g G bEg AC 4o AB S
£ i#f{H ' G.%AH =DF 49 AG =DE
D In A AGH and A DEF
AG = DE S
A A ..
GAH = EDF 23
AH = DF Yo 4
A AGH = ADEF ettt S
~GH = EF CPCT Yy
AN AN
AGH = DEF
A VAN .
but DEF = ABC o3
AGH = ABC IR
.. GH || BC Yy
AB _ BC _ AC
AG GH AH J#§ BPT
but AG =DE, GH = EF, AH = DF

AB _ BC _ AC
DE EF DF
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